(b)

Q{M}mw. i %M}mhl 2

A particle is projected at an angle a =tan"' 3 to the horizontal up a plane
inclined at an angle 8 to the horizontal. (The plane of projection is vertical

and contains the line of greatest slope). The particle strikes the plane at right

angles.

Find two possible values for 6.

7, = usinf@-8)t = 1 gcosh.t? 5
v. = ucos(a —6) — gsino.t 5
=0 = _ 2usin(a — 8) 5
: gcost!
v =0 = 1= u cos(.a -8) 5
osind
~ 2usin(@—68) _ ucos(a—¥8)
gcosd - gsind

2tan(a —@).tan 8 = 1

| +tana.tan @ 1+ 3tand

2tan’0 —3tané +1=0

= fanf=+1 or tanfd=1 5
= g = 26.6° or 45°

30
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